.     Binomial Distribution Table    .
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.     Adding Binomial Distribution    .
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Often several binomial values need to be added
Daddy B is very consistent in his porridge making and amazingly each bowl is independent of all others. The probability a big bowl is too hot is 0.2
1) What is the probability that exactly 2 
     out of the next 5 big bowls of porridge 
     are too hot
2) What is the probability that less than 2 out 
     of the next 5 big bowls of porridge are too hot
3) What is the probability that at least 2 out 

     of the next 5 big bowls of porridge are too hot
KEY terminology: 
‘Less than 8’   ‘At least 8’   ‘At most 8’   ‘8 or more’   ‘Up to 8’   ‘No more than 8’

1.  Thirty percent of students at a large University are known to be short-sighted.
If ten students are picked at random, find the probability that at most two of them are shortsighted.

2.  An unbiased coin is tossed 8 times. 
Find the probability that there are fewer than 3 heads tossed.

3.  A farmer plants 12 saplings. On average, 15% of saplings planted fail to survive their first winter. Find the probability that more than one of his saplings will die in that first winter.



























































































Σ (new) Ex 21.02


(old) Ex 15.02
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